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E8 AF AD E5 9B 9B E7 ¢83 585115.htm 1. st/sta/stitut=stand(
[1 00 ) steady: st(LJ O ) ead -y(1J OJ ) » OO O destination: de-(leave)
st(J O ) in -ation - [0 O O contrast: contra-(against) st(C1 O ) - [
[J circumstance: circum-(round) st(LJ [J ) -ance — I [J restore:
re-(back,again) st(J LI ) ore — 1 O distance: dis-(apart) st(L1 LI )
-ance - [ 0 O - O O distant; di-(apart) st(LJ [0 ) -ant(CJ O ) - [
[ O estate:e-(out) st( ) -ate- OO0 L0 OO OO0
obstacle: ob-(against) sta([J [1 ) -cle —» [ [ statement: sta([J (I ) te
-ment - [1 [J status: stat(0J L1 ) us — OO OO O O O substance:
sub-(under) st(LJ 0 ) -ance—» 0 0 O 0O O O - O O substantial:
sub-(under) sta(CJ O ) nt-ial(0J O ) - O O O install: in- sta(d [ )
Il - O O installation: install(CJ [ ) -ation — [J [ static: sta([d (1)
-tic( 0 ) -0 0O O stable: st(d 00 ) -able(J O ) - O O O instant:
In-(upon,near) sta(L] UJ ) nt— [0 0O O constitute: con-(together)
stitut(L 0 )e—- 0 O 0O 0O - 0O O constitution: con-(together)
stitut(LI O ) -ion - O O institute: in-(up) stitut(CJ O )e- 0 O O
00000 - 00 institution: institut(e)(CJ O ) -ion O O O O
(I substitute: sub-(under) stitute( U )-0 00000 -0 0O 2
strain,strict,string,stress=draw tight(CJ [ ) restraint: re-(back) strain(
0 0O)t- 0O 0O restrain: re-(back) strain(J U ) - 00 I constrict:
con-(together) strict(LJ [0 ) » O O OO district: di-(apart) strict([]
[J)— 00O restrict: re-(again) strict(CJ 0 ) — [ O distress:
di-(apart) stress(1J O ) - 00 O O 3. tain, ten, tin=hold(J ), keep(



1) attain: at-(to) tain(J ) - J [ — 0O O contain: con-(together)
tain(J 11 ) -~ J OO container: contain(C] (1) -er(J 00 ) - OO [
maintain: main(head) tain(L] ) - [J [0 obtain: ob-(near) tain(L] ) -
[ O retain: re-(back) tain(CJ ) - O O 0O O O sustain: sus-(0 )
tain(U 0)-00000 -0000 0O entertainment: entertain(
OO0O0000)-ment- OO entertain: enter-(among) tain(CJ O )
- [ 0O 0O content: con-(together) ten(J )t- O 000 -0 OO
[ 0 maintenance: main(head) ten([] ) -ance — [1 I continue:
con-(together) tin(J ) ue — I J continual: continu(=continue)
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